SLo= . = br FEE Z ZIFERE LIS < Z
B NRIUPEEE) RS EE.%%E BEM)ORFLLATE L HREDICERELE ﬁ,q;n MIEANTBE
= = 6H 18] fid = ESid = 9 =
HiEEE :Iw&a HIEEE 5] BRI HiREE = TRED HEEE L HiEHEE
B 1 1 1
X 2 BB A 2 2
7 Ryl 3|+ BB RN 3 3
x #EYDA 4B BB AR A 4 4
& EHDA 5| A Hix 5 5
+ 6 | & 6 6
st A%t =] 7|7 7 7
A 8 | A& 8 8
Pq CHES 9 9
7 S 10 G A
X 1] 8 HER 11 IIOYE] 1] A KK
E 12| A HEL 12 12] &
+ WA 13| & 13 13 7]
=] HMRERKXE 141 7] 14 AES
JZ] 15| K 15 [HES
X 16 16 [HE3
7 17 BOBE 17 1718
x 18 18 18] A BEDH
EES o 19 HER 19 19k
T 20 20 20| 7]
=] 21 21 [FEEN 21| K
A hRHER 22 22 PAES
X i AR 23 23 23|+ MH0H
7 hRHER 24 24 24| B
x 25 25 25| A
& 26 26 26 | X
27 27 27 7
28 28 28 | &
[ZENO)=] 29 29 29| & 2eh RS ER|
30 30 30| £
31
S E3H EHE| 3 E3H EHE E3H S
0 0 i2 0 0 [ 0 0
0 0 i 0 [ [ 0 [
#DIV/01 #DIV/01 2.7 #DIV/01 X #DIV/01 29 #DIV/0 #DIV/01
#DIV/01 #DIV/01 43 #DIV /0 R E ) #DIV/0i 30 #DIV/01 #DIV/ 01
T = T 7 T =
wesa| |[A] HE | RE L. 1A | HE R Nppgg| |28 ] HE | 8 |.puy HREEE
E=REA 2 HES S 2 E=REA sl K szl
117 xTH [HES EFN
2 | K AES
FHES XitnH 3£
4|+ B A % 418 Rix
518 [CEPNR 5 A
6 A [rES:N 6 | X
JA BN 717
8 | 7 8 | K
ZK—vDR 9 [ 4 BRADH 9| &
B [ES
[ ES (]
12| 8 12[ 8
13[ A 13 K
[N 14X E] 147
BB 15 | J] A 15| K
16 | K X 16| &
17]# 7 [HES alERER
18+ X 18] A ik
9] 8 S 19 A
20| A 20| 71 S 20| Kk E50H
21| & ARES [RE 32N B AIE EERH #ZT
=] 22| 7| 22 A 22| K FERHAR
A 281 A& sresoa] [23] £ & 232 ECFLT:
X PAES 24| B 24| 7} 24| £
25] 7} 25|+ 25| A 25| K 25 H
26 | & 26| A 26 | K 26 26| A FERERIE]
21| & 271 A 27| 7 27 27| X FERHE
28|+ 28 | K 28| K 28 28| K] 2
29 R 29 [ K 29| & 29 29| K] 2
A KAES RS 30|+ 30
g g s 3118 31 g g s
i ATl £ . ESi . & " - atiEl £ . s
)] i0 0 FHREE 0 FHREE ii 0 FHREH i4 0 THRER 70 0
0 5 0 REREH 0 CWHEER 3 0 RHRED [ 0 REREH 5 [
SEE AN 20 #DIV/01 pX) #DIV/0F S 23 #DIV/01 S AR 2% #DIV/01 S EE 27 #DIV/0 FHETRAE 27 #DIV/01
R B BT 50 #DIV/0! TR E & B 30 #DIV/01 R S B 30 #DIV/0i R & B 5 30 #DIV/01 R E S B 55 #DIV/0! A E BT 30 #DIV/0!




